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<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">public class Singleton {

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
n() {} //RER0: MHEREEMERY

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"
gleton single = null; //XER1: FEIRRFIRNREFHFSHY
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"
gleton GetInstance()  //IBIIEFSTTIERMIERIR

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

vV VvV

private Singlet

\%

private static Si

\%

public static Si

</span></span><span class="highlight-line"><span class="highlight-cl"> if (single ==
null)
</span></span><span class="highlight-line"> <span class="highlight-cl"> {

[/RER2: FIRTRFNRERCEHMEIE
</span></span><span class="highlight-line"> <span class="highlight-cl"> single = n
w Singleton();
</span></span><span class="highlight-line"><span class="highlight-cl"> }

\%

</span></span><span class="highlight-line"> <span class="highlight-cl" return single;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span></code> </pre>
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<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Singleton {

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> private Singlet

n() {} //RERO: MHEREREMERY

\Y

JROCEE: RHE 2 AR


https://ld246.com/article/1484012719989

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> private static Si
gleton single = null; //XR1: FEIERFIRIREFHFSAY

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> private static ob
ect obj= new object();

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public static Si
gleton Getinstance()  //BIFFSFEARITETSR

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (single ==

null) //RBER2: FIRFINREREEWEE

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span></span><span class="highlight-line"> <span class="highlight-cl"> lock(obj)
/]R3 ISR

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> single =

ew Singleton();

</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span><span class="highlight-line"> <span class="highlight-cl"> return single;

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>
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<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Singleton {

</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span><span class="highlight-line"> <span class="highlight-cl"
nQ {} //RERO: MEREZFAERY

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> private static Si
gleton single = null; //XER1: FIARFIXISREFHFSAY

</span></span><span class="highlight-line"> <span class="highlight-cl|">

</span></span> <span class="highlight-line"> <span class="highlight-cl"> private static ob
ect obj= new object();

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> public static Si
gleton GetInstance()  //IBIIEFSTTIERMIERIR

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

\%

private Singlet

</span></span><span class="highlight-line"><span class="highlight-cl"> if (single ==

null) //RER2: FRfINREREEWE

</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span></span><span class="highlight-line"> <span class="highlight-cl"> lock(obj)
WES: I=CH 1570

</span></span><span class="highlight-line"><span class="highlight-cl"> {
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</span></span><span class="highlight-line"> <span class="highlight-cl"> if(single

= null) /IRERA: ZIRFIRFIEREEWEE
</span></span><span class="highlight-line"> <span class="highlight-cl"> {

\Y

single

}
}
}

</span></span><span class="highlight-line"> <span class="highlight-cl"
new Singleton();

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"

V VV VYV

return single;

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>
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